CamocTtosiTenbHas paboTta

Haiigure mpou3BogHyI0 QYHKIIHH:

Dy=5x-6 2y=2% 3)y=9.
Haiigure nNpon3BoAHYIO DYHKIUHA:
1) =t 8)y=nx1% §)y =2k
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2) y = 2% Hy=—1; 6)y = xb.

X
IIpoaud depennupyiiTe GyHKIUIO:
1)y = Yx; 2)y = Ya7; 8) y= —; 4) 1 i
)y )y )y T )y s

Haitgure npou3BogHYIO - _ S
)y=22-312+6x-10 )¥=+2)(a*-4x+5);

2) y = 425 + 20Vx; )y =Bx+5)(2x2 - 1);

)y =(x+5)Vx;

HanTtn nponsBoaHyo yHKLMK

a) .= e B) § =&°%

6) y=e*+1; r)y =e"%-3.

HaiTu nponsBogHyto pyHKUMU
a) y = 2% - log,(x - 1); B) y =5 - Tlog, (x + 1);
3

6) y = 3" + 2log, x; r) y= {%} + log, (x + 4).

2
Hantn nponssBogHyo dyHKUMN

6) ¥ = 3lnx + sin 2x; r)y = Zcosg - 5Inx.



